)

S
ArtikelNr Bezeichnung
1.19.00069 Schlossschraube 3/8""x 1-1/2"
1.19.00074 Schlossschraube 1/2""x 1-1/2""
1.19.00071 Schlossschraube 3/8""'x 1"
1.19.00072 "Rep.Senkschraube 3/8""x 2-1/2""
1.19.00073 Rep.Senkschraube 7/16""x 1-1/4"" (10,9)
1.19.00461 Distanzscheibe
1.19.00469 Unterlegscheibe
1.19.00081 Kerbstift 3/16""x 29/32""
1.19.00497 Bremse
1.19.00079 Kugelgelenk
1.19.00093 Reparatursatz *OCC*
1.19.00080 Haken
1.19.00341 Wartungsteilesatz
1.19.00476 Kabel
1.19.00496 Kugelgelenk
1.19.00453 Satz Bremsbelag
1.19.00454 Dichtungssatz
1.19.00452 Scheibensatz
1.19.00089 Feder
1.19.00058 Blichse
1.19.00062 Blichse
1.19.00498 Spannring
1.19.00092 Riemen
1.19.00068 Distanzscheibe
1.19.00098 Nadel
1.19.00499 Zahler
1.19.00059 Schraube
1.19.00500 Messer Set
1.19.00345 Zahn
1.19.00078 Bolzen
1.19.00082 Verschleissplatte
1.19.00344 Nabe
1.19.00064 Lasche
1.19.00075 Distanzstick
1.19.00061 Klaue
1.19.00097 Arm
1.19.00091 Lager
1.19.00096 Messer
1.19.00067 Lasche

Schelling Landmaschinen GmbH | Goldackerweg 29 | 8224 Léhningen
Tel. 052 685 14 03 | info@schelling-landmaschinen.ch | www.schelling-landmaschinen.ch

BBestellNr
03H1495
03H1499
03H1500
10H1068
10H1245
24M7181
24M7300
25H522
AE48686
AE49269
AE70115
AFH205783
AL37517
AZ19599
AZ28775
AZ36452
AZ37842
AZ42241
B27616
BP14124
BP8602E
C11453
CC18089
CC18449
DC14818
DC15593
DC17881
DC18239
DC203086
E15517
E16071
E18288
E19707
E32465
E36425
E38735
E41454
E42088
E42312

Lagerbestand
4.00

2.00
25.00
24.00

2.00

1.00

1.00

8.00

2.00

1.00

1.00

1.00

3.00

1.00

1.00

1.00

1.00

1.00

7.00

1.00

1.00

1.00

2.00

6.00

2.00

2.00
40.00

2.00
43.00

2.00

1.00

2.00

0.00

3.00

2.00

1.00

3.00

1.00

1.00

Lagerort
E_7_E
E_7_E
E_7_E
E_7_E
E_7_E
E_6_F
E_6_F
E_7_E
E_7_E
E_7_E
E_7_E
E_7_E
E_7_F
E_6_F
E_6_F
E_7_F
E_6_F
E_7_F
E_7_E
E_7_E
E_7_E
E_7_E
E_7_E
E_7_E
E_7_E
E_7_E
E_7_E
E_7_E
E_7_F
E_7_E
E_7_E
E_7_F
E_7_E
E_7_E
E_7_E
E_7_E
E_7_E
E_7_E
E_7_E



)

SCHELLING

STARKER PARTNER. STARKE MASCHINEN.

1.19.00090 Feder E50098 4.00 E_7_E
1.19.00501 Blattfeder E52572 4.00/ E_7_E
1.19.00084 Verriegelung E54646 8.00/E_7_E
1.19.00063 Bolzen E55861 2.00/E_7_E
1.19.00066 Rolle E57571 1.00/E_7_E
1.19.00065 Segment E57575 1.00/E_7_E
1.19.00083 Biichse E611191 2.00/E_7_E
1.19.00094 Abstreifer E64581 2.00/E_7_E
1.19.00338 Federzinken E67036 10.00/E_7_F
1.19.00060 Kupplungsmitnehmerscheibe E82557 1.00|E_7_E
1.19.00077 Nocken FH312227 3.00/E_7_E
1.38.00287 Sprengring H133229 1.00/E_6_F
1.19.00475 Dichtung H75244 1.00 E_6_F
1.19.00085 Druckfeder HZ5220HW 3.00/E_7_E
1.19.00494 Radialdichtung L35628 1.00/E_6_F
1.19.00451 Bremsplatte M3332T 1.00 E_7_F
1.19.00342 Feder M831T 5.00/E_7_F
1.19.00087 Biichse N277000 1.00 E_7_E
1.19.00465 Dichtung N376359 1.00/E_6_F
1.19.00472 Dichtung N376360 1.00/E_6_F
1.19.00462 Dichtung N376362 1.00 E_6_F
1.19.00086 Feder N85566 1.00/E_7_E
1.19.00463 Distanzscheibe P48652 5.00|E_6_F
1.19.00474 Dichtung P48666 3.00|E_6_F
1.19.00464 Distanzscheibe P49116 1.00/E_6_F
1.19.00457 0O-Ring R29354 1.00/E_6_F
1.19.00449 Druckscheibe Z10775 1.00 E_7_F
1.19.00447 Dichtringsatz Z10989 1.00/E_7_F
1.19.00450 Deckel 222294 1.00 E_7_F
1.19.00340 Kugel 2302069 4.00 E_7_F
1.19.00460 Radialdichtring Z30217 2.00/E_6_F
1.19.00339 Pumpenkolben 230218 2.00|E_7_F
1.19.00459 Balg Z30219 1.00/E_6_F
1.19.00455 Balg 232405 3.00|E_6_F
1.19.00456 Faltenbalg 234588 3.00|E_6_F
1.19.00491 Klinge 235241 25.00 E_6_F
1.19.00446 Seilzug 235485 1.00/E_7_F
1.19.00343 Radialdichtring 237367 1.00/E_7_F
1.19.00480 Welle 237503 1.00/E_6_F
1.19.00473 Dichtung 237520 1.00/E_6_F

Schelling Landmaschinen GmbH | Goldackerweg 29 | 8224 Léhningen

Tel. 052 685 14 03 | info@schelling-landmaschinen.ch | www.schelling-landmaschinen.ch




)

1.19.00076 Distanzscheibe 238822 7.00 E_7_E
1.19.00495 Messer 742176 7.00/E_6_F
1.19.00468 Kettenrad 244857 1.00/E_6_F
1.19.00467 Dichtung 745228 1.00 E_6_F
1.19.00493 Distanzstiick 751243 11.00 E_6_F
1.19.00478 Dichtungsscheibe 252531 1.00/E_6_F
1.19.00466 Dichtung Z53133 1.00/E_6_F
1.19.00479 Distanzscheibe 253364 3.00|E_6_F
1.19.00490 Distanzscheibe 253367 3.00|E_6_F
1.19.00477 Dichtungsscheibe 253563 1.00/E_6_F
1.19.00492 Messer 259020 10.00|E_6_F
1.19.00471 Mitnehmer 262148 2.00/E_6_F
1.19.00470 Flanschmutter 270829 1.00 E_6_F

Schelling Landmaschinen GmbH | Goldackerweg 29 | 8224 Léhningen
Tel. 052 685 14 03 | info@schelling-landmaschinen.ch | www.schelling-landmaschinen.ch



